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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 Write the following numbers in order of size.
Start with the smallest number.

0.32 0.4 0.35 0.309

(Total for Question 1 is 1 mark)

2 Here is a list of numbers.

goM s B

From the list, write down a multiple of 3

et nEmhnae e 8

(Total for Question 2 is 1 mark)

3  Write 4.666 correct to the nearest whole number.

1\ Lé["ffw' decrmu\ Plu(c_ C’{CN’U&)
NuUWber D, S, rouad il
nowver &S fesna b rc:unckiv\g up beccrone 6 -
6 >g kB fOLJI/mU\ [P S e T
(Total for Question 3 is 1 mark)
3 Q.2¢
4 Write 7 asadecimal. - 3x L — 2qxoy.2s A 2LS
4 O.2%
O-1¢
e O35 .

(Total for Question 4 is 1 mark)

5 Write down the value of the 7 in the number 8765
') S Uik

L 6 Yeus
F Zundeeds L Y

g Hsords
(Total for Question 5 is 1 mark)
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6 Gita spins a fair 8-sided spinner.
G Nob iosed
Pee) - A % =
Juvne o opWisn
- Lo L
8 L
(a) On the probability scale, mark with a cross (X) the probability that the spinner will
land on C.
I * ‘/ I
I |
0 1 1
2
1)
(b) On the probability scale, mark with a cross (X) the probability that the spinner will
land on D.
- | |
1 1
M ber o D 2
Lo oer
Py = =—— =2 g ()
‘A_)U.LMIMI of op\ﬂo\h 8
(Total for Question 6 is 2 marks)
. J
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7 The incomplete pictogram shows information about the number of eggs sold from a farm
shop on Monday.

Key: 1 = d
Monday @ G ” 3 6%5/

Tuesday @ @ /
Wednesday @ @ 4l /

On Monday the shop sold 18 eggs. — & QU@'"er ellipsey =
On Tuesday the shop sold 24 eggs.
On Wednesday the shop sold 27 eggs.

18 gy = |queiler EILEE
= ?)eﬂcﬂb

Use this information to complete the pictogram and the key.

'ﬁesdcxt») g . | quarler ellipse > 3eqa)y

( J'L? - ?:li =€ o x8
v gqumbd‘ elipe - AVRESSH [ K

wedﬂ@da*j . \Cluc:f‘lc‘f ?(lip&Q - 593':?.5 D/}(} _ L _q - x.9
Al quig g = zreyes

(Total for Question 7 is 4 marks)

P 6 2 2 7 4 R A 0 4 2 0

V34Y SIHL NI 31IM 1ON.Od




PhysicsAndMathsTutor.com

DO NOT WRITE IN - THIS AREA

=V

(a) Write down the coordinates of the point A.

M v
(b) Write down the coordinates of the point B.
O, )
1)
(c) On the grid, mark with a cross (X) the point (-2, 1)
Label this point C.
1)

(Total for Question 8 is 3 marks)

J
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9 (a) A bag contains red counters and blue counters only.

number of red counters : number of blue counters = 3 : 4

Write down the fraction of the counters that are red.

Ly Auwee o red 2 2
ez -E 5/#- \./
Mdowoes of Coswder e 0 T
(€))
(b) Write the ratio 12:30 in the form 1 :n
Nn- 2.4
1(111502' R A-S
~
| \27',? I I O
0 (2)
60
) (Total for Question 9 is 3 marks)

10 Jenny has 12 marbles.

i of these 12 marbles are large. — #LCJK}L M. L xlL = 2
t

v

The rest of these 12 marbles are small. —5 A Sy 1, |1 -3 = 9

Each large marble has a weight of 70 grams.
Each small marble has a weight of 50 grams.

Work out the total weight of the 12 marbles.

weighr o} lCH(J{ Nodbels = 4 loge M A weighy of loge M
= 3 L FOg= 2109

eIy G SO aasibels = H SO M X UoRlghy o Gneodh

—_C(ng{j__Lts“Qj +2[Q

TR
{oel Geighr = (0. Lage M+ (0. Smosh masirbely c6o
- ;uoa r uggj/
= 6@03
............... QA0 grams

(Total for Question 10 is 4 marks)
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11
mirror line
I
\\ // N
L
I
Reflect the shaded shape in the mirror line.
(Total for Question 11 is 2 marks)
12 The diagram shows a number machine.
input —» x 2 > ——» -3 > —» output
(a) Find the output when the input is 7
Fx =1y
W -3 = 1
................... W
1)
(b) Find the input when the output is 41
f—c)l‘ Cx/\'\npulr N, Oudpus = AN -3
Ll = 2An -3
£ Jrd
( LU = An
DU l T L
. Vl —_ Li&‘_ [l
>, 9\;‘/ .............
- XL (2)
(Total for Question 12 is 3 marks)
. J

7
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13 The diagram shows two points, 4 and B, on a map.

> Z

Diagram accurately
drawn

X B
[@ur[SHJ\ AR - sonm”

V34Y SIHL NI 31IM 1ON.Od

> Z

Scale: 1 to 25000 Q9

(a) Find the bearing of B from 4. 5 S\eur ok \g
A canwdk go
o 1.

(b) Work out the real distance between 4 and B.
Give your answer in kilometres.

S AT 00D
)Lg / ‘ ? l)‘g
e g = AT 0 OD e -

AT OO cn = 1 LSO A

2SO v = |.AS kwm
.............. \&S‘/ kilometres
3) m
(Total for Question 13 is 4 marks)
. J
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14 Ishmael asked 30 students at college to tell him the sport they each like the best from
cricket or tennis or swimming.
11 of the 20 female students said swimming.
2 of the male students said tennis.
5 students said cricket.
The number of male students who said cricket was the same as the number of male
students who said swimming.
\/L | + ldi-l\ =lo
Complete the two-way table. J;{ LyX = (Q F Xy ' 1L T“j 19 )
—l(’ 21 = Q Q -k ED = 8
Cricket Tennis Swimming Total
Vs
Male students 5 A Ly (O
Female students l gl |\ 20
Total 5 | O ES 30
(Total for Question is 3 marks)
15 Jamil makes a drink by mixing F50O
1 part of orange squash with 9 parts of water. X 9
He uses 750 millilitres of orange squash. 6__3'__2_(_3__
Jamil is going to put the drink he has mixed into 1 litre bottles. 4
Work out the greatest number of 1 litre bottles that Jamil can completely fill. v 675Q
L)oot ——Z—ig—-—
15006
O hows wueh Ueker ic Lyed - Qs o Llakes L)
(&) .
Fes ﬁ A Jmo -5 724K} §Oan\
FQwl - 615Qmi v~
@ U MUk /fLuud\/ dume M (s
{0l Wlune = Vol (as) + JOL(oker) = F50ml + €F5Om|
= ?'SQQ wl
A Wo bty
@h N s [ ]\od’l&m%m@ww?:%mf}ﬁ(
X170 7.6 boless FSOwt ¥ joee
Dfowd domn 10 Feane 7 b, o
ﬁ"‘-u.rj\(\ rol g
(Total for Question 15 is 3 marks)
. J
9
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16 The table gives information about the number of points scored by each of 16 students in

a game.
Number of points | Frequency
0 1
1 3
2 5
3 4
4 3

Tina worked out the median of the number of points scored to be 5

(a) Explain why it is not possible for the median to be 5

Tina also worked out the total number of points scored by the 16 students in the game.
Here is her working.

OxD)+(Ax3)+2x5+Bx4)+(@x3)=1+3+10+12+12=38
Tina made a mistake in her working to find the total number of points scored.

(b) Describe the mistake that Tina made.

........ OX\;Qno\r\m’T'nm\/\ms\mm/

(Total for Question 16 is 2 marks)
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17 In a shop, a TV has a normal price of £500
The shop has a sale. 1 5 09x% NP .
On Monday, the normal price of the TV is reduced by 10 to give the sale price.
On Tuesday, the sale price of the TV is reduced by 20%
Chris wants to buy the TV.
He has £400 to spend on the TV.
Does Chris have enough money to buy the TV on Tuesday?
You must show how you get your answer.
Sate pr ond . qused v
ol P‘ﬂCQ an ™ Uj 0 xET < X :O’XS'O:-‘C:L\QQ
A_’/
Lole prce am /{uesdoj =~ 0).8xSPM LSOy
s X 0.8
= Q.9xXLSO
360 2
- @)
> 52607 000 O
260 S
s oy S Loo . £Loxs D $360
CYeD
coChis can Offavd B Av on /(uesd\%
(Total for Question 17 is S marks)
. J
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18 Work out an estimate for 790 X 289 790 Y 800
hid rEA W 500/
L§ found. 1O l-b-\- ud v sQ
Ué oo
OO £3a0 2L 0000 S]au oo
}w JXJ ——— 2y
i
S [e)
Oo
= L8O o8
@)
%00 v

(Total for Question 18 is 3 marks)

19 (a) Expand @) = xxo y (x)(-L)

= X% r (—Ux)
sxt-be XX
(b) Factorise 15y —10
154-10 = $C3y -2
ISy 10 3 g\j )
‘J/ N N :3@3
AT 0=y SETEVE
3s SN L (NS
(c) Solve 7(f-5)=28
FLES) =28
1 ( ) =+
Vs ey

¥ L g Jts

(Total for Question 19 is 4 marks)
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20 The first five terms of an arithmetic sequence are
1 4 7 10 13
Write down an expression, in terms of #, for the nth term of this sequence.
) G T o 13
J D )
A27T ruke. N
FY O FA kY KRS 3n
" Loz 3 s Aowm - e e 15 3n-2
e )y F e 13
an 2 & “ ,21 ‘SL SN
- -2 =x ~=7
/{e‘M“?’V‘ = (Total for Question 20 is 2 marks)
Show th ! CAPES
21 Show that 23><34—84
) Coonneil Waisesk WUANSE o Tanprape fverions.
A L t Ckl/u-‘k 3 z. = _‘_g /
3 3 « 4
) YKty Taapesd Jrexclioons 23 y (hdle HUART
s & ciwe
2\—-}(32.—_?;&_)5’\/}*5:5_?:31 3Zﬁmpolk
3) 4 ’ X L/ \ r G _(; 1 ?
= 3
&+ /(_{
-¢ 3/
2
(Total for Question 21 is 3 marks)
. J
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22 The diagram shows four graphs.

>
X
Graph A
VA
3
= X
0 ¢
Graph C

VA
3
y=-x
0 g
Graph B
VA
2
y=<
0 ¢
Graph D

Each of the equations in the table is the equation of one of the graphs.

Complete the table.

o —-

+

Equation Letter of graph
y=-x B
y=x C
y=x D
1
y-1 A

%V
%

(Total for Question 22 is 2 marks)
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23 The diagram shows four triangles.
4@ 10cm
8cm
Triangle A Triangle B
§cm 10cm
80° .
|1€0-& -LS = &S
10cm
Triangle C Triangle D
Two of these triangles are congruent. — Srme
Write down the letters of these two triangles.
.......................... H andD\/
(Total for Question 23 is 1 mark)
24 Sean pays £10 for 24 chocolate bars.
A £Q80
He sells all 24 chocolate bars for 50p each.
Work out Sean’s percentage profit.
Revenue. Claso muaw Me mode) = 20K §£A.50 = £)12v
g - e - +
/o ngar - Ku@mu& Os X 10D — &[L-&LO /
Cont - X1QQ
&0
= g_')— L)
T X000 TOx ) = AV
Lo
(Total for Question 24 is 3 marks)
. J
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25 ADC is a triangle.

N
5) hne)u SRE
N\ . AT :
{an & AEd r Abe =180
cAn £ 6aT 4 BT ES A

Hl\q\ea N oo mamgle Suva ko
lgoe L

gR&* qsa - \SQ“

148° gﬁ\@ -180°-4¢"
= 83-5

63°

AED and ABC are straight lines.
EB is parallel to DC.

Angle EBC = 148°
Angle ADC = 63°

Work out the size of angle EAB.
You must give a reason for each stage of your working.

FAN
) fir\cll!\3 ongle AED.

HEB and Y\JSQ Gie CoNeipanehinyg angles (AT is on s line fleo otunel

¢n ownk DL ave Palo.uel)
G A = Ao — Ats = &3° o

A
2) {ﬁndfﬂfj angie. Ade,

. : 180°
Line. ABC 14 o~ s\m:cj\nlr ):!Lc' anck Ongley  aw o e Sum o 4

P(Q:&Jr EBL - 153
U@ ( PHB& ¥ uge = 16 )-[u&"
Pm,g - l§0° _ |Lg®
Abe = e A

AN
. ERD = &5° 4

(Total for Question 25 is 5 marks)
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26 The table shows information about the heights, in cm, of a group of Year 9 girls.

This stem and leaf diagram shows information about the heights, in cm, of a group

Mecion psbon + 1St _ g
Z..

least height

150 cm

median

greatest height

165cm RCJJI\L‘jC S & VN Y G IVUN
170cm R T

(ange - |&Lcwa - |58

= 2L v~

Key: 15 | 8 represents 158 cm

of 15 Year 9 boys.
151899
16 | 45775 Mekan -l
17 1 03 447
18 | 02 of\d\
R

Compare the distribution of the heights of the girls with the distribution of the heights of

the boys.

medlﬁmhetah}'fuawlglsleb\_lhcm\\l\/\eolmm\l\el \Alréedbotjs
...... L ST T

Ranae_aamams\)ms AAAAA fhoa B range f“ L,L)od‘.“,Q.;l.ggl.u) ..... VA

/

(Total for Question 26 is 3 marks)

J
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27 The diagram shows a prism placed on a horizontal floor.

force
pressure =
area
3m
The prism has height 3m
The volume of the prism is 18 m?
The pressure on the floor due to the prism is 75 newtons/m?
Work out the force exerted by the prism on the floor.
0rgSs for(e
g =
Cross -sechonon 0rea
Im
Nl 7 ross - Sechono e
WONC Wk Cross- SROAONGN ArRa: @
. Yowme . 8 ‘
rOSS - Wea = ——— = —— = bm
st -serono arn < Youme . ! 0
WO oWk foree - e L('SO ................... newtons
(Total for Question 27 is 3 marks)
for(e
Pressure =

Cross -Sechonon 0

35 - fore (D)
6

18

P 6 2 2 7 4 R A 01 8 2 0

YISV SIHLNEILIEM LONOd Vady SIHL NI 31IIM LON Oa

YISV SIHLNEILIIM 1ONOC


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain


Saarah Hussain



PhysicsAndMathsTutor.com

28 Write these numbers in order of size. Crandord }cﬁ\/k T x lon ( | CAL \Qj

Start with the smallest number.

6.72 x 10° 67.2x10* 672 x 10* 0.000672
(3) 6 xlo 0y Otk (P rxio"M
6 1x 173 6.11x0% D)
(2) (L)
D000 2L AFixio SAwe® &nxol
(Total for Question 28 is 2 marks) :
L
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29 Given that 2= 2 and b = 3
b 5 c 4
finda:b:c Q:btgzg b'-C_: 3Q\/
Ch: b
45 bind b, Lem(s,3) =g
Ak bt ¢
A S
S 1S 20 V-
................ Q1S 2007
(Total for Question 29 is 3 marks)
. J
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30 (a) Make ¢ the subject of p=6qg + 7

(b) Simplify (m2)3
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(Total for Question 30 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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